SAT ANSWER EXPLANATIONS = READING AND WRITING: MODULE 2

Reading and Writing

Module 2

(33 questions)

QUESTION 1

Choice B is the best answer because it most logically completes the text's
discussion of Jacob Lawrence's artistic process. In this context, “observant”
means watchful and perceptive. The text emphasizes that the “close attention”
Lawrence paid to “all the details” of his neighborhood allowed him to reflect subtle
elements of “the beauty and vitality of the Black experience” in his artwork. This
context indicates that being observant of his surroundings was an important part
of Lawrence's work as an artist.

Choice Ais incorrect because the text gives no indication that Lawrence was
"skeptical,” or had an attitude of doubt in general or about particular things, let
alone that skepticism was important to him as an artist. Rather than indicating
that he was skeptical, the text focuses on how Lawrence paid careful attention
to everything around him and reflected his observations in his artwork. Choice C
is incorrect because the text gives no indication that Lawrence was “critical,”
which in this context would mean inclined to criticize harshly or unfairly. Rather
than indicating that Lawrence found fault in things, the text suggests that he
paid careful attention to everything around him and that his artwork reflects this
careful attention. Choice D is incorrect because the text doesn't suggest that
Lawrence was “confident,” or self-assured. Rather than addressing how Lawrence
felt about himself and how that feeling affected his artistic process, the text
emphasizes the careful attention Lawrence paid to everything around him—
attention that allowed him to capture subtle elements of a particular place and
time in his artwork.
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QUESTION 2

Choice D is the best answer because it most logically completes the text's
discussion of the research that Lopes-Ferreira and her colleagues are conducting
on the stingray species Potamotrygon rex. As used in this context, “a substantial”
effect means an effect that is sizable or noteworthy. The text indicates that the
researchers are seeking to determine whether there are “considerable variations”
in the potency of stingray venom that are associated with variation in the
stingrays' age and sex. This context suggests that the researchers want to find
out whether stingray age and sex have a substantial effect on venom toxicity.

Choice Ais incorrect because there's nothing in the text that suggests that the
researchers have been studying whether the stingrays’ age and sex have “a
disconcerting,” or an unsettling and disturbing, effect on the stingrays' venom.
The text indicates that the researchers wish to determine if stingray age and

sex cause large variations in the toxicity of stingray venom, not if the effect of
age and sex is disconcerting. Choice Bis incorrect because the text indicates
that researchers want to find out whether differences in stingray age and sex
produce differences in stingray venom, not that the researchers want to find out
whether age and sex have “an acceptable,” or a satisfactory, effect on venom.
The text makes no mention of what would make an effect on venom toxicity
acceptable and gives no indication that the researchers are interested in that
question. Choice C is incorrect because it wouldn't make sense in context for the
researchers to be looking for "an imperceptible,” or an unnoticeable, effect of
age and sex on stingray venom. The text says that the researchers are trying to
determine if there are “considerable variations" in venom toxicity linked to age and
sex, not that the researchers are trying to find effects that they can't perceive.

QUESTION 3

Choice A is the best answer because it most logically completes the text's
discussion of diaphragm contractions and hiccups. In this context, “involuntarily”
means done without any control, or by reflex. The text explains that when a
person's diaphragm repeatedly contracts and results in hiccups (which may be
beneficial for infants), those muscle contractions are “uncontrollable.” This context
indicates that the diaphragm contractions occur without the person’s control.

Choice Bis incorrect because it wouldn't support the logical relationship
established in the text's discussion of diaphragm contractions and hiccups.

The text indicates that although specific causes for hiccups haven't been
identified, it may be the case that the muscle contractions that occur have an
important purpose in infants. It wouldn't make sense to say that even though

the contractions occur "beneficially,” or with a good or helpful effect, they might
play a positive role in infants’ breathing regulation. Choice C is incorrect because
the text indicates that the diaphragm contractions that result in hiccups are
"uncontrollable.” Because those muscle contractions are described as happening
automatically and without the person'’s control, it wouldn’t make sense to
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describe them as occurring “strenuously,” or in a way that requires great effort
or energy. Choice D is incorrect because the text doesn't describe the quality of
the diaphragm contractions that result in hiccups beyond stating that they are
"uncontrollable.” Nothing in the text indicates that those muscle contractions
occur “smoothly,” or evenly and continuously.

QUESTION 4

Choice D is the best answer because it most logically completes the text's
discussion about the relationship between fine art and fashion. As used in this
context, "intersect” means to connect or overlap. The text indicates that Jamie
Okuma challenges the position held by critics because her work can be seen

at an art museum and can be bought by the public from her online boutique.

The text also presents the critics’ view as being influenced by a perception that
fine artists create works that are “timeless” and meant for exhibition, whereas
fashion designers periodically produce new styles that are meant for purchase.
This context suggests that the critics believe that fine art and fashion tend not to
overlap—in other words, that they rarely intersect.

Choice Ais incorrect because it wouldn't make sense in context to say that
critics contend that fine art and fashion rarely “prevail,” or prove to be triumphant
or widespread. The text indicates that Okuma is an example of an artist who
demonstrates that it's possible to make fine art that is also available to the public
as fashion. Choice B is incorrect because it wouldn't make sense in context to
say that fine art and fashion rarely “succumb,” or surrender. The text establishes
that unlike what critics believe, Okuma creates works that are in art museums
and available for the public to purchase, suggesting that critics believe fine art
and fashion rarely overlap, not that they rarely succumb. Choice Cis incorrect
because saying that critics believe that fine art and fashion rarely “diverge,” or
disagree or move in different directions, wouldn't make sense in context. The text
presents Okuma's work as both fine art and fashion, thereby undermining what
the critics assert. This suggests that the critics believe that fine art and fashion
rarely intersect rather than that the two rarely diverge.

QUESTION 5

Choice D is the best answer because it most logically completes the text's
discussion of gender roles in Shakespeare's comedies. As used in this context,
"prescribed” would mean laid down as rules. The text indicates that the characters
in the comedies often defy gender roles that are “socially dictated” (even if most
characters do return to those roles eventually) and that scholars have been

very interested in these acts of defiance. This context indicates that what the
characters are rebelling against are standards of behavior prescribed by the
society of the time.
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Choice A is incorrect because saying that expectations about gender were
"interjected,” or suddenly inserted between other things, wouldn't make sense
in context. There's no suggestion in the text that the issue of gender roles was
inserted between other things or was an interruption in a larger discussion.
Choice Bis incorrect because the text indicates that Shakespeare depicts
characters rebelling against expectations about gender that have been
"socially dictated,” not expectations that society has “committed,” or carried out,
entrusted, or promised. Choice Cis incorrect because the text indicates that
Shakespeare depicts characters rebelling against expectations about gender
that have been "socially dictated,” not expectations that have been "illustrated,”
or clarified with examples. Although it's possible for expectations about gender
roles to be illustrated, there's nothing in the text to indicate that characters in
Shakespeare's comedies rebel against illustrations of gender expectations.

QUESTION 6

Choice B is the best answer because it most logically completes the text's
discussion of Ward and colleagues’ findings. As used in this context, “innocuous”
means mild or unharmful. The text describes the vibration and warming that Ward
and colleagues used to alleviate itching as “"harmless applications” and goes on to
contrast these applications with another stimulus that actually offers more relief
even though it seems to be stronger and “less benign.” This context conveys the
idea that vibration and warming were innocuous stimuli.

Choice A is incorrect because the text focuses on a distinction between harmless
stimuli and those that seem to be less benign. Nothing in the text suggests

that any of the treatments are “deceptive,” or misleading; indeed, even the

less effective ones are described as offering some relief. Choice C is incorrect
because the text focuses on the amount of relief from itching offered by harmless
stimuli and those that seem to be less benign. The text doesn't suggest that any
of these stimuli are "novel,” or original and new; heat, vibration, and electricity
aren't new inventions. Choice D is incorrect because it wouldn't make sense to
describe an application of vibration or warming as “impractical,” or not suitable
for use. The text indicates that these harmless applications are useful in that they
offer at least some temporary relief.

QUESTION 7

Choice D is the best answer because it most logically completes the text's
discussion of the location of the province of Xoconochco within the Aztec Empire.
As used in this context, “peripheral” means situated toward the outer bounds
rather than the center. The text indicates that Xoconochco was located on a
coast, hundreds of kilometers away from the capital of the Aztec Empire. The

text also states that trade between the province and the capital required “a long
overland journey.” This context suggests that Xoconochco was situated toward
an edge of the empire’s territory rather than near its center.
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Choice A is incorrect because it wouldn't make sense in context to refer to
Xoconochco's location within the Aztec Empire as "unobtrusive,” or not blatant

or undesirably prominent; it's not clear how a province's physical location would
or wouldn't be blatant. Instead of focusing on how noticeable Xoconochco's
location was, the text emphasizes the province's distance from the capital of the
empire, pointing out that because of this distance trade between the two required
"along overland journey.” Choice Bis incorrect because the text indicates that
the province of Xoconochco was located on a coast far from the capital of the
Aztec Empire, not that it was “concealed,” or kept out of sight or hidden from
view. Nothing in the text suggests that Xoconochco was actually hidden such
that people couldn't see it, and being hidden wouldn't necessarily result in trade
between the province and the capital requiring “a long overland journey.” Choice C
is incorrect because to say that Xoconochco's location within the Aztec Empire
was “approximate” would mean that the location either wasn't precisely correct or
was close to some other location. Neither of these meanings would make sense
in context because the text indicates that Xoconochco's location is known and
that it was far from the empire's capital, so there's no reason to characterize the
location as either not precisely correct or close to another location.

QUESTION 8

Choice A is the best answer because it most accurately describes the main
purpose of the text, which is to show that while Jane calmly goes about her daily
tasks, she is experiencing internal agitation about possibly seeking a new job.

At the start of the text, Jane says, "l went on with my day's business tranquilly,”
indicating that she is outwardly calm. This outward calmness is then contrasted
with her intense internal restlessness, as Jane says that thoughts of leaving her job
keep running through her mind, that she is “involuntarily framing advertisements”
(meaning that she can't stop herself from thinking up potential listings for jobs),
and that she often wonders what new “situations” (or jobs) would be like.

Choice Bis incorrect because the text gives no indication of Jane's feelings,
either positive or negative, about the people she works for at Thornfield Hall.

And rather than emphasizing that Jane feels particularly loyal to her employers,
the text focuses on her constant consideration of leaving her job. Choice Cis
incorrect because the text gives no indication that Jane finds her current situation
fulfilling, or satisfying. Given that much of the text is focused on Jane's thoughts
about possibly leaving her job for a new one, it might be the case that she finds
her situation challenging, but there is no evidence in the text that Jane also finds
that situation satisfying—she says nothing positive about her current job at all, in
fact. Choice D is incorrect because the text describes Jane as wondering about
getting a new job, not as determined to definitely do so. Jane keeps thinking
about reasons why she “should” quit her current job (indicating that she hasn't yet
decided to) and imagining possible new situations she could find, but she says

at the end of the text that these thoughts “might germinate and bear fruit if they
could,” meaning that the thoughts haven't yet led to a decision—that Jane isn't
yet determined to get a new job somewhere else.
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QUESTION 9

Choice B is the best answer because it reflects how the author of Text 2

would most likely respond to Text 1 based on the information provided. Text 1
discusses the discovery of a regeneration-linked gene, EGR, in both three-
banded panther worms (which are capable of full regeneration) and humans (who
have relatively limited regeneration abilities). Text 1 characterizes this discovery
as "especially promising” and a sign of “exciting progress” in understanding
human regeneration. The author of Text 2, on the other hand, focuses on the

fact that the team that reported the EGR finding pointed out that while EGR’s
function in humans isn't yet known, it's likely very different from its function in
panther worms. Therefore, the author of Text 2 would most likely say that Text 1's
enthusiasm about the EGR discovery is overly optimistic given Srivastava's team'’s
observations about EGR in humans.

Choice Ais incorrect because the author of Text 2 explains that Srivastava and
her team explicitly reported that they haven't yet identified how EGR functions

in humans; therefore, the author of Text 2 wouldn't say that Text 1's excitement
is reasonable for the stated reason. Instead, the author of Text 2 would likely
characterize Text 1's excitement as premature and overly optimistic. Choice C is
incorrect because Text 1 does treat Srivastava's team's findings with enthusiasm;
it describes the discovery of EGR in both three-banded panther worms and
humans as promising and exciting. It would be illogical for the author of Text 2

to say that because most others treat the discovery with enthusiasm, Text 1's
enthusiastic characterization of the discovery is unexpected. Choice D is
incorrect because Text 1 isn't at all dismissive of Srivastava's team'’s findings;
instead, Text 1 is optimistic about the EGR discovery, characterizing it as
promising and exciting. There's nothing in Text 2 to suggest that the author of
Text 2 would say that Text 1's praise for the discovery is dismissive, or disdainful.

QUESTION 10

Choice D is the best answer because it most accurately states the main idea of
the text. The speaker describes the experience of being “weary” and “tired” and
going to bed to seek “dear repose” (that is, sleep), but instead of sleeping, the
speaker is kept awake ("keep my drooping eyelids open wide") by thoughts of a
friend (“my thoughts... [Begin] a zealous pilgrimage to thee").

Choice Ais incorrect because the text makes it clear that the speaker isn't asleep;
thoughts about the friend are keeping the speaker awake ("keep my drooping
eyelids open wide"). Choice B is incorrect because the speaker isn't talking about
taking a literal trip when referring to “a zealous pilgrimage.” Rather, the speaker is
referring to the experience of thinking about the friend, of taking "a journey in my
head.” Choice Cis incorrect because the text indicates that the speaker and the
friend aren't in the same place and having a conversation. Rather, the speaker is at
home and thinking of the friend, who is somewhere else (“from far where | abide”).
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QUESTION 11

Choice D is the best answer because it presents a statement about how the Lord
Chancellor responds to the crowd that is supported by the text. The text indicates
that the people in the crowd are roaring and shouting “Bread!” or “Taxes!" and
presents them as not knowing what they really want. The Lord Chancellor's
response is to ask what their shouting means but also to observe that they're
shouting with “unanimity,” or total agreement. Clearly, this isn't the case, which
supports the statement that the Lord Chancellor describes the crowd as being
united even thoughit's not.

Choice Ais incorrect because it isn't supported by the text. Although the text
indicates that the Lord Chancellor asks about the meaning of the crowd'’s
shouting, it doesn't suggest that he knows what the crowd really wants. Choice B
is incorrect because the text doesn't suggest that the Lord Chancellor wants

to speak to the crowd. Furthermore, the text doesn't indicate that the crowd
wants to hear from the Sub-Warden. Although the crowd roars when asked

"Who roar for the Sub-Warden?" it's unclear what the roaring means. Choice C is
incorrect because the text doesn't suggest that the Lord Chancellor knows of or
sympathizes with the crowd’s demands. In addition, the text doesn't indicate that
the crowd's shouting annoys the Lord Chancellor, just that it causes him to keep
repeating “What can it all mean?”

QUESTION 12

Choice A is the best answer because it presents the quotation that most directly
illustrates the claim that Cather portrays Alexandra as having a deep emotional
connection to her natural surroundings. This quotation states that the country
meant a great deal to Alexandra and then goes on to detail several ways in which
her natural surroundings affect her emotionally: the insects sound like "the
sweetest music,” she feels as though “her heart were hiding” in the grass “with the
quail and the plover,” and near the ridges she feels “the future stirring.”

Choice Bis incorrect because the quotation doesn't suggest that Alexandra had
a deep emotional connection to her natural surroundings but instead describes
how she interacts with the people around her to learn more about crops, poultry,
and experiments with clover hay. Choice C is incorrect because the quotation
doesn't suggest that Alexandra has a deep emotional connection to her natural
surroundings but instead describes her nighttime departure in a wagon. The
quotation says nothing about Alexandra's emotional state. Choice D is incorrect
because the quotation doesn't convey Alexandra’'s deep emotional connection
to her natural surroundings; instead, this quotation describes how well she
understands the markets and livestock.

QUESTION 13

Choice B is the best answer because it provides the most direct support from the
table for the claim that two languages can convey similar amounts of information
even if they're spoken at different rates. The table shows the approximate rates
at which five languages are spoken and the rates at which those five languages
convey information. Vietnamese is spoken at around 5.3 syllables per second,
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whereas Spanish is spoken at around 7.7 syllables per second, but the two
languages convey information at very similar rates: Vietnamese at a rate of around
42.5 bits per second and Spanish at a rate of around 42.0 bits per second. Thus,
the description of Vietnamese conveying information at around the same rate
that Spanish does despite being spoken more slowly supports the claimin the
text that languages can convey the same amount of information even if spoken at
different rates.

Choice Ais incorrect because it isn't true that Thai and Hungarian have the lowest
rates of speech of the five languages shown. According to the table, Hungarian

is spoken at around 5.9 syllables per second, which is faster than Vietnamese

(5.3 syllables per second). Additionally, even if this statement were true, the
assertion that two languages are spoken the slowest and convey information the
slowest wouldn't support the claim that languages can convey the same amount
of information even if they're spoken at different rates. Choice Cis incorrect
because it isn't true that the fastest-spoken language (Spanish, at 7.7 syllables
per second) also conveys information the fastest: Spanish conveys information at
42.0 bits per second, which is slower than the 42.5 bits-per-second rate at which
Vietnamese conveys information. Additionally, even if this statement were true,
the assertion that the language spoken the fastest also conveys information the
fastest has no bearing on the claim that languages can convey the same amount
of information even if they're spoken at different rates. Choice D is incorrect
because it isn't true that Serbian conveys information faster than Spanish does.
According to the table, Serbian conveys information at a rate of around 39.1 bits
per second, which is slower than the 42.0 bits-per-second rate at which Spanish
conveys information.

QUESTION 14

Choice A is the best answer because it presents a finding that, if true, would

most strongly support the researchers’ claim that they found evidence that
experiencing awe can make people feel more connected to others and thus

more likely to behave altruistically (with beneficial and unselfish concern for
others). According to the text, the researchers tested for this effect by first having
participants look at either something known to be awe-inspiring (very tall trees)
or something ordinary (a plain building) and then purposely spilling pens near the
participants. The finding that participants who had looked at the trees helped pick
up significantly more pens than did participants who had looked at the building
would support the researchers’ claim by demonstrating that the people who had
experienced awe behaved more altruistically when the experimenter needed help
than the other participants did.

Choice Bis incorrect because a finding about helpful participants using positive
words to describe the trees and the building after the experiment was over
wouldn't have any bearing on the researchers’ claim that experiencing awe
increases altruistic behavior. The text doesn't address the use of positive words to
describe things or suggest any connection between using such words and having
experienced awe, so that behavior wouldn't serve as evidence that experiencing
awe played a role in promoting helpful behavior. Choice Cis incorrect because a
finding that participants who didn't help the experimenter were significantly more
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likely than others to report having experienced awe whether they had looked at
the building or the trees would weaken the researchers’ claim that experiencing
awe increases altruistic behavior by suggesting that the opposite might be true—
that experiencing awe is in fact linked to choosing not to act in a way that benefits
someone else. Choice D is incorrect because a finding about participants noticing
that the experimenter had dropped the pens wouldn't have any bearing on the
researchers’ claim about people behaving altruistically. Being aware of a challenge
or problem isn't necessarily beneficial on its own and isn't the same as offering
help, so the finding wouldn't support the idea that experiencing awe increases
altruistic behavior.

QUESTION 15

Choice A is the best answer because it presents data from the table that most
effectively complete the statement about the rates at which employment shifted
in France and the United States. The text states that over the last two hundred
years employment in the agricultural sector has declined while employment in the
service sector has risen in both France and the US, and the data from the table
reflect these trends. The text asserts, however, that the transition from agriculture
to services "happened at very different rates in the two countries.” This assertion
is best supported by a comparison of data from 1900 and 1950: the table shows
that in those years, employment in agriculture went from 43% to 32% in France

(a decline of 11 percentage points) and from 41% to 14% in the US (a decline of
27 percentage points), and that employment in services went from 28% to 35%

in France (an increase of 7 percentage points) and from 31% to 53% in the US (an
increase of 22 percentage points). In other words, the rate of change was greater
in the US than in France for both sectors.

Choice Bis incorrect because comparing the data for 1800 and 2012 would
suggest a similar rate of change in the two countries, not very different rates:
employment in agriculture went from 64% in 1800 to 3% in 2012 in France,

which is close to the change from 68% in 1800 to 2% in 2012 in the US, while
employment in services went from 14% in 1800 to 76% in 2012 in France, which
is close to the change from 13% in 1800 to 80% in 2012 in the US. Choice C is
incorrect because comparing the data for 1900 and 2012 would suggest a similar
rate of change in the two countries rather than very different rates: employment in
agriculture went from 43% in 1900 to 3% in 2012 in France, which is close to the
change from 41% in 1900 to 2% in 2012 in the US, while employment in services
went from 28% in 1900 to 76% in 2012 in France, which is close to the change
from 31% in 1900 to 80% in 2012 in the US. Choice D is incorrect because
comparing the data for 1800 and 1900 would suggest a similar rate of change in
the two countries, not very different rates: employment in agriculture went from
64% in 1800 to 43% in 1900 in France, which is fairly close to the change from
68% in 1800 to 41% in 1900 in the US, while employment in services went from
14% in 1800 to 28% in 1900 in France, which is close to the change from 13% in
1800 to 31% in 1900 in the US.
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QUESTION 16

Choice Cis the best answer because it presents a finding that, if true, would
support the researchers’ claim that archaeologists are unlikely to be replaced by
certain computer models. The text explains that although archaeologists hold
that categorizing pottery fragments relies on both objective criteria and instinct
developed through direct experience, researchers have found that a computer
model can categorize the fragments with the same degree of accuracy as the
humans can—a finding that has caused some archaeologists to worry that their
own work won't be needed any longer. If survey results indicate that categorizing
pottery fragments limits the amount of time archaeologists can dedicate to other
important tasks that only human experts can do, that would mean that computer
models aren't able to do all of the important things archaeologists do, thus
supporting the researchers’ claim that computer models are unlikely to replace
human archaeologists.

Choice Ais incorrect because if it were true that the computer model could
categorize the pottery fragments much more quickly than the archaeologists
could, that would weaken the researchers’ claim that archaeologists are unlikely
to be replaced by certain computer models, since it would demonstrate that the
models could conduct the archaeologists’ work not only with equal accuracy

but also at a faster pace. Choice Bis incorrect because the inability of both the
computer model and the archaeologists to accurately categorize all of the pottery
fragments presented wouldn't support the researchers’ claim that archaeologists
are unlikely to be replaced by certain computer models. The text indicates that
some archaeologists are worried because the computer model's accuracy

is equal to their own, and that could be the case whether both were perfectly
accurate or were unable to achieve complete accuracy. Choice D is incorrect
because survey results showing that few archaeologists received special training
in properly categorizing pottery fragments wouldn't support the researchers’
claim that archaeologists are unlikely to be replaced by certain computer
models. The amount of special training in categorizing pottery fragments that
archaeologists have received has no direct bearing on whether computer
models’ success at categorizing fragments will lead to the models replacing the
archaeologists.

QUESTION 17

Choice A is the best answer because it presents the conclusion that most
logically follows from the text's discussion of military veterans working in civilian
government jobs in the United States. The text indicates that the proportion of
military veterans working in civilian government jobs is considerably higher than
the proportion of military veterans in the population as a whole. The text also
notes that the unusually high representation of military veterans in these jobs
may be a result of the organizational structures shared by civilian government
entities and the military. Hence, it's reasonable to infer that it's the familiarity of
the structures of civilian government that makes jobs there particularly attractive
to military veterans.
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Choice Bis incorrect because the text doesn't address what a typical relationship
between military service and later career preferences would be, and there's no
indication that it's atypical for veterans to work in civilian government jobs after
they've left the military. On the contrary, the text suggests that many military
veterans are drawn to such jobs. Choice C is incorrect because the text is
focused on the high representation of military veterans in civilian government
jobs and doesn't address nonveterans or their possible interest in military
service. Choice D is incorrect because the text conveys that military veterans
may be particularly interested in civilian government jobs due to the familiarity

of organizational structures that are already in place, but there's no reason to
think that this interest would mean that more civilian government jobs will start to
require military experience.

QUESTION 18

Choice D is the best answer because it most logically completes the text's
discussion of Shultz's finding about male tanagers. The text explains that because
carotenoids both contribute to deeply saturated feathers and offer health benefits,
having deeply saturated feathers is usually “an honest signal” (a true indication)
that a bird is generally fit. However, Shultz and others have found that certain

male tanagers can appear to have deeply saturated feathers even if they haven't
consumed a diet rich in carotenoids, thanks to microstructures in their feathers
that manipulate light. If those birds aren't necessarily eating carotenoid-rich diets,
they may actually be less fit than other birds that appear to have similarly saturated
feathers; this suggests that a male tanager's appearance may function as a
dishonest signal, or a false indication, of the bird’s overall fitness.

Choice Ais incorrect because Shultz's finding suggests that some tanagers

can signal fitness without consuming the carotenoids that contribute to fitness,
thereby making those signals dishonest, not that tanagers can give honest
signals of their fithess without consuming carotenoids. Choice Bis incorrect
because Shultz's finding suggests that the microstructures in certain tanagers'
feathers can give a dishonest signal of fithess, not that the microstructures are
less effective than actual pigmentation for signaling fitness. Whether the signal
of fitness is honest or dishonest has no bearing on how effective the signal is:

a signal is effective if potential mates behave as thoughit's true, regardless of
whether it's actually true. Since there’s no information in the text about how
potential mates respond to the dishonest signals of some tanagers, there's no
support for the idea that the dishonest signals are less effective than the honest
signals. Choice C is incorrect because Shultz's finding suggests that certain male
tanagers may appear to be fitter than they actually are, not that scientists haven't
determined why tanagers prefer mates with colorful appearances.
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QUESTION 19

Choice Cis the best answer. The convention being tested is subject-verb
agreement. The singular verb "has been" agrees in number with the singular
subject "writing.”

Choice A is incorrect because the plural verb “were” doesn't agree in number with
the singular subject "writing.” Choice Bis incorrect because the plural verb "have
been"” doesn't agree in number with the singular subject "writing.” Choice D is
incorrect because the plural verb “are” doesn't agree in number with the singular
subject "writing.”

QUESTION 20

Choice B is the best answer. The convention being tested is the coordination

of main clauses within a sentence. This choice correctly uses a comma and the
coordinating conjunction "but” to join the first main clause (“the Alvarez...out") and
the second main clause (“it left ... extinctions”).

Choice A is incorrect because when coordinating two longer main clauses such
as these, it's conventional to use a comma before the coordinating conjunction.
Choice Cis incorrect because it results in a run-on sentence. The two main
clauses are fused without punctuation and/or a conjunction. Choice D is incorrect
because it results in a comma splice. Without a conjunction following it, a comma
can't be used in this way to join two main clauses.

QUESTION 21

Choice Cis the best answer. The convention being tested is the use of finite and
nonfinite verb forms within a sentence. The nonfinite present participle “forcing”
is correctly used to form a participial phrase that supplements the main clause
"those...cover,” describing the effects on monkeys of the lack of food sources.

Choice A is incorrect because the finite present tense verb “forces” can't be used
in this way to supplement the main clause (“those...cover”). Choice Bis incorrect.
While the nonfinite to-infinitive “to force” could be used to form a subordinate
clause that supplements the main clause (“those...cover”), to-infinitives
conventionally express purpose, and nothing in the sentence suggests that the
food sources become unavailable for the purpose of forcing monkeys to hunt
marine animals. Choice D is incorrect because the finite past tense verb “forced”
can't be used in this way to supplement the main clause (“those...cover”).
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QUESTION 22

Choice D is the best answer. The convention being tested is end-of-sentence
punctuation. This choice correctly uses a question mark to punctuate the
interrogative clause "could the blueberries thrive,” which asks a direct question at
the end of the sentence.

Choice Ais incorrect because a period can't be used in this way to punctuate

an interrogative clause, such as “could the blueberries thrive,” at the end of a
sentence. Choice Bis incorrect because the context requires an interrogative
clause. The declarative clause “the blueberries could thrive” incorrectly indicates
that it was known that the blueberries could thrive in alkaline soil, whereas Michel
had yet to find this out. Choice C is incorrect because a question mark can't be
used in this way to punctuate a declarative clause, such as “the blueberries could
thrive," at the end of a sentence.

QUESTION 23

Choice D is the best answer. The convention being tested is the use of verbs to
express tense. In this choice, the present tense verb “is,” used in conjunction with
the word "today,” correctly indicates that Paik is currently considered the first
video artist.

Choice Ais incorrect because the future-indicating verb “will be” doesn’'t indicate
that Paik is currently considered the first video artist. Choice Bis incorrect
because the past perfect tense verb "had been” doesn't indicate that Paik is
currently considered the first video artist. Choice C s incorrect because the past
tense verb "was” doesn't indicate that Paik is currently considered the first video
artist.

QUESTION 24

Choice Cis the best answer. The convention being tested is punctuation use
between sentences. In this choice, the period is used correctly to mark the
boundary between the first sentence (“The...adjustments”) and the second
sentence ("Prior...days"). Because the adverbial phrase beginning with “prior”
indicates when changing a spreadsheet required redoing the sheet by hand, that
phrase belongs with the second sentence.

Choice A is incorrect because it results in a run-on sentence. Two sentences are
fused without punctuation and/or a conjunction. Choice B is incorrect because

it results in a comma splice. A comma can't be used in this way to mark the
boundary between sentences. Choice D is incorrect. Without a comma preceding
it, the conjunction "and” can't be used in this way to join the sentences.
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QUESTION 25

Choice B is the best answer. The convention being tested is the use of finite and
nonfinite verb forms within a sentence. The modal “would,” which indicates the
future from a perspective in the past, should be accompanied by a nonfinite base
form verb. In this choice, the nonfinite base form verb “create” is used correctly in
conjunction with the nonfinite base form verb “increase” to describe what the lock
would do.

Choice Ais incorrect because the finite present tense verb “creates” can't be
used in this way with the modal "would” to describe what the lock would do.
Choice Cis incorrect because the present participle “creating” can't be used in
this way with the modal “would” to describe what the lock would do. Choice D is
incorrect because the finite past tense verb “created” can't be used in this way
with the modal “would" to describe what the lock would do.

QUESTION 26

Choice D is the best answer. The convention being tested is subject-modifier
placement. This choice ensures that the modifying phrase “despite being cheap,
versatile, and easy to produce” appears immediately before the noun it modifies,
"commercial plastics,” clearly establishing that the commercial plastics—and not
another noun in the sentence—are being described as cheap, versatile, and easy
to produce.

Choice Ais incorrect because it results in a dangling modifier. The placement

of the function word “there” immediately after the modifying phrase illogically

and confusingly suggests that “there” is cheap, versatile, and easy to produce.
Choice Bis incorrect because it results in a dangling modifier. The placement

of the noun “two problems” immediately after the modifying phrase illogically
suggests that the “problems” are cheap, versatile, and easy to produce. Choice C
is incorrect because it results in a dangling modifier. The placement of the noun
phrase “commercial plastics’ two associated problems” immediately after the
modifying phrase illogically suggests that the “problems” are cheap, versatile, and
easy to produce.

QUESTION 27

Choice Cis the best answer. The convention being tested is the use of
punctuation between titles and proper nouns. No punctuation is needed to set
off the proper noun “Yuree Lee" from the title that describes Lee, “plant cell
biologist.” Because "Yuree Lee" is essential information identifying the “plant cell
biologist,” no punctuation is necessary.

Choice A is incorrect because no punctuation is needed. Choice Bis incorrect
because no punctuation is needed. Choice D is incorrect because no punctuation
is needed before or after the proper noun "Yuree Lee.” Setting the biologist's
name off with commas suggests that it could be removed without affecting the
coherence of the sentence, which isn't the case.
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QUESTION 28

Choice D is the best answer. “"As a result” logically signals that the claim in this
sentence—that spiders can cling to and climb almost any surface—is because of
the previous information about the bonding properties of spiders' spatulae.

Choice A is incorrect because “for instance” illogically signals that the claim in this
sentence exemplifies the information in the previous sentences. Instead, the claim
is because of the previous information about the bonding properties of spiders’
spatulae. Choice Bis incorrect because "however” illogically signals that the claim
in this sentence contrasts with the information in the previous sentences. Instead,
the claim is because of the previous information about the bonding properties

of spiders’ spatulae. Choice C is incorrect because "similarly” illogically signals
that the claim in this sentence is similar to, but separate from, the information in
the previous sentences. Instead, the claim is because of the previous information
about the bonding properties of spiders’ spatulae.

QUESTION 29

Choice A is the best answer. “Still” logically signals that the information about
Sher-Gil in this sentence— that she longed to leave Paris and return to India—
contrasts with what one would expect after reading about Sher-Gil's experiences
in Paris in the previous sentences.

Choice Bis incorrect because “therefore” illogically signals that the information
about Sher-Gil in this sentence is a result or consequence of the descriptions

in the previous sentences. Instead, this information contrasts with what one
would expect after reading about Sher-Gil's experiences in Paris. Choice Cis
incorrect because "indeed" illogically signals that the information about Sher-
Gil in this sentence offers additional emphasis in support of the descriptions in
the previous sentences. Instead, this information contrasts with what one would
expect after reading about Sher-Gil's experiences in Paris. Choice D is incorrect
because "furthermore” illogically signals that the information about Sher-Gil in
this sentence offers additional support for or confirmation of the descriptions in
the previous sentences. Instead, this information contrasts with what one would
expect after reading about Sher-Gil's experiences in Paris.

QUESTION 30

Choice C is the best answer. “Similarly” logically signals that the activity
described in this sentence (Nancy Tuttle Craig distributing Votes for Women Tea

in her Los Angeles grocery stores) is like the activity described in the previous
sentence (the Woman's Suffrage Party selling Equality Tea at fairs in San
Francisco). Together, the two examples support the preceding claim that “activists
across the state sold tea to promote the cause of suffrage.”

Choice A is incorrect because “for example” illogically signals that the activity
described in this sentence exemplifies the activity described in the previous
sentence. Instead, the two activities are similar, and both support the preceding
claim about selling tea to promote women's right to vote. Choice Bis incorrect
because “to conclude” illogically signals that the activity described in this
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sentence concludes or summarizes the information in the previous sentences.
Instead, the activity is similar to the one described in the previous sentence, and
both support the preceding claim about selling tea to promote women's right

to vote. Choice D is incorrect because "in other words" illogically signals that
the activity described in this sentence paraphrases the activity described in the
previous sentence. Instead, the two activities are similar, and both support the
preceding claim about selling tea to promote women's right to vote.

QUESTION 31

Choice B is the best answer. The sentence compares the lengths of the two rail
tunnels, noting that the Channel Tunnel (about 31 miles long) is slightly shorter
than the Seikan Tunnel (roughly 33 miles long).

Choice Ais incorrect. The sentence makes a generalization about the length of
some rail tunnels; it doesn't compare the lengths of the two rail tunnels. Choice C
is incorrect. The sentence describes a single rail tunnel; it doesn't compare the
lengths of the two rail tunnels. Choice D is incorrect. While the sentence mentions
the two rail tunnels, it doesn’t compare their lengths.

QUESTION 32

Choice B is the best answer because it provides both an explanation and an
example of “flauna.” The sentence explains that flauna, a combination of the
words “flora” and “fauna,” is a term used by Jon Ching to describe the plant-animal
hybrids in his paintings. The sentence also mentions an example of Ching's flauna:
a parrot with leaves for feathers.

Choice Ais incorrect. While the sentence partially explains what “flauna” is, it
doesn't provide a full explanation or specific example of Ching's flauna. Choice C
is incorrect. While the sentence partially explains what “flauna” is and includes a
title of a Ching painting, it doesn't provide a full explanation or specific example of
Ching's flauna. Choice D is incorrect. While the sentence partially explains what
"flauna” is and includes the titles of two Ching paintings, it doesn't provide a full
explanation of Ching's flauna.

QUESTION 33

Choice D is the best answer. By indicating that Taylor's book was the only
Civil War memoir published by a Black woman, this sentence emphasizes the
uniqueness, or one-of-a-kind nature, of Taylor's accomplishment.

Choice Ais incorrect. While the sentence describes some of Taylor's
accomplishments, it doesn’t emphasize the uniqueness of them. Choice Bis
incorrect. While the sentence describes some of Taylor's accomplishments,

it doesn't emphasize that they were unique. Choice C is incorrect. While the
sentence provides information about Taylor's book, it doesn't emphasize what
made the book unique.
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Math

Module 1

(27 questions)

QUESTION 1

Choice Bis correct. 10% of a quantity means % times the quantity. Therefore,
10% of 470 can be represented as %(470), which is equivalent to 0.10(470),
or 47.Therefore, 10% of 470 is 47.

Choice Aisincorrect. Thisis 10% of 370, not 10% of 470. Choice Cis
incorrect. Thisis 90% of 470, not 10% of 470. Choice D is incorrect. This is
470-10, not 10% of 470.

QUESTION 2

Choice Cis correct. Subtracting 6 from both sides of the given equation yields
4x =12, which is the equation given in choice C. Since this equation is equivalent
to the given equation, it has the same solution as the given equation.

Choice A is incorrect and may result from conceptual or calculation errors.
Choice Bis incorrect and may result from conceptual or calculation errors.
Choice D is incorrect and may result from conceptual or calculation errors.

QUESTION 3

Choice D is correct. The cost of the rental fee depends on the number of hours
the surfboard is rented. Multiplying t hours by 10 dollars per hour yields a rental
fee of 10t dollars. The total cost of the rental consists of the rental fee plus the
25 dollar service fee, which yields a total cost of 25+ 10t dollars. Since the
person intends to spend a maximum of 75 dollars to rent the surfboard, the
total cost must be at most 75 dollars. Therefore, the inequality 25410t <75
represents this situation.

Choice Ais incorrect. This represents a situation where the rental fee, not the total
cost, is at most 75 dollars. Choice Bis incorrect and may result from conceptual
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